X ¥ & vt T 7 K &2 & 1+ 0o # AR K
Bt H : 2017T4E11H16H KBEH
& B h—=—bNXANT7757 5,455 Yard Par T2

FfE PRI D)L 7 W

[/ a ZDE)]

& {iz 18 &8 4 =R
B B AEIER 349
Bk AAEA 353

3L N 358
¥ FH=EC 358
51 Bt 360
6L ) 363
7L FH=B 364
8fiL T 366
9fiL KHR 367

10431 FH=EA 374

11431 =RIR 397

12431 ARZEB 426

(> hDik]

I {5z 12 & & 4 /e
B B B 300
B B 301.8

3L FHEC 304

4L FH=B 308.8
5L FHEA 309.2
613z XHE 309.4
74z T 309.8
8431 =IRR 320.2
ofiz AZEB 330

AFYRE FHEC BHRT OUT 39 N 40 GROSS 79
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W oxF L I
B H: 2017T4E11H16 HARREH
2 BPoN—F=—L N XINT7 757 5,455 Yard Par 72

WV 7 K a2 &k 1 o H

27

H

*

TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET
AR R FHEC
349 1 358 4 3040 3
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
= x E E 44 | 41 85 *| 84 766 ¥ % B F 39 | 40 79 * 36 754*
E B B £ F 42 | 43 85 *| 120 730 B B Hr F 43 | 44 87 *| 96 [774%*
2 B 2 I 44 | 45 89 *| 144 746 z B 3 F 47 | 46 93 *| 18.0 |75.0*
B x B R # 46 | 44 90 *| 156 744 F KX 2 I 48 | 51 99 *| 228 |76.2%
B & 8h F 47 | 44 91 15.6 75.4
TOTAL JEfZ | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
ARZEA Bt
353 2 360 5 1/300.0 1
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
A H E K OE 41 | 41 82 *| 96 724 T B B F 44 | 45 89 * 132 |758*%*
w oRx KR O H 41 | 43 84 * 96 744 =, N\ S = 48 | 42 90 *| 132 |76.8*
E @4 ®& =X 46 | 47 93 * 192 738 XKARSES B F 50 | 40 90 *| 144 |756*
A B £ & F 49 | 45 94 *| 192 748 T B B B 44 | 47 91 *| 192 [71.8*
E B # T 55 | 49 104 | 204 83.6
TOTAL J[EfZ | TOTAL | NET TOTAL | J[Efz | TOTAL | NET
mAR <5
358 3 363 6 3018 2
K £ OUT | IN |TOTAL HDCP NET K 4 OUT | IN |TOTAL HDCP| NET
% K £ @M F 48 | 37 85 *| 84 766 5 ¥ & F 42 | 45 87 *| 108 [76.2*
E H # = 46 | 44 90 * 132 7638 71\ = R [ R o 46 | 42 88 *| 144 |736*
N B B I 47 | 44 91 * 144 766 I E v Y F 46 | 46 92 *| 180 [740*
N kK E 47 | 45 92 * 16.8 752 B B X F 50 | 46 96 *| 18.0 [78.0%*
= X b T F 49 | 44 93 | 132 798
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W oxF L I
B H: 2017T4E11H16 HARREH
2 BPoN—F=—L N XINT7 757 5,455 Yard Par 72

WV 7 K a2 &k 1 o H

27

H

*

TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
FH=B FHEA
364 7 3088 4 374 10 [309.2 5
K 4 OUT| IN TOTAL|HDCP NET K % OUT| IN TOTAL|HDCP| NET
R E T F 40 | 44 84 *| 96 744%* g2 # ¥ K F 44 | 41 85 *| 120 |73.0*
¥ H WM F 43 | 48 91 * 132 778% il L = 4 46 | 47 93 *| 204 |726*
BN = F 48 | 46 94 *| 156 784* F OE OB F 48 | 45 93 *| 132 [79.8*
/A F =¥ ¥ 49 | 46 95 *| 16.8 78.2* ® B L F 47 | 56 103 *| 19.2 |838*
TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
TE SRR
366 8 3098 7 397 11 3202 8
K 4 OUT| IN TOTAL|HDCP NET K % OUT| IN TOTAL|HDCP| NET
F # B F 42 | 41 83 *| 84 746* 2 H T F 46 | 44 90 *| 13.2 |76.8*
E 3 B & F 44 | 47 91 * 96 814 E & 3 ¥ I 54 | 42 96 *| 120 [840*
w B B F 48 | 44 92 *| 156 764* OB R 50 | 48 98 *| 204 [77.6*
BOH O E F 45 | 55 100 *| 204 796* B’ B oL F 61 52 113 * 312 |81.8*
5 H £ B 4 52 | 50 102 | 228 79.2*%*
TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET
KHAR #RZEB
367 9 3094 6 426 12 13300 9
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
T B B F 43 | 43 86 * 84 716* M BH OB OF 52 | 50 | 102 *| 276 |744%*
% X - 43 | 45 88 * 120 76.0* b X F # 53 | 51 104 *| 240 80.0*
n X 82 &8 F 44 | 48 92 *| 168 752* E H = F 50 @ 59 109 * 204 |886*
M o B #OF 54 | 47 | 101 *| 204 806* X % £ F 57 | 54 | 111 *| 240 |87.0*
H KB # F 48 | 54 102 | 156 86.4




